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Your Mathematics Experiences

Place a check mark in the cell that describes your level of math anxiety.

None A Little Some A Lot Very
Looking through the pages in your 
math series teacher’s manual. 
Teaching students how to use 
and interpret tables, graphs, and 
charts
Preparing students for a 

“standardized” math test 
throughout the week before.
Working our math equations on 
the board in front of a class of 
students.
Preparing a presentation 
for parents about the math 
curriculum you teach.
Preparing to teach students a new 
concept that will be challenging to 
them.
Explaining your rationale for the 
math curriculum to a parent who 
stopped by your classroom after 
school.
Talking to a student who wanted 
to use a different way to solve a 
math problem than the way taught 
in class.
Writing a lesson plan for teaching 
a new math concept.
Waiting for the results of your 
students’ year-end math tests.
Having a surprise evaluation by 
an administrator during a math 
lesson you are teaching.
Walking into school and thinking 
about teaching a math lesson.

Hadley & Dorward (2011)



Mathematical Trajectories

Critical Content



Instructional Platform

Instructional Delivery

Instructional Strategies

Evidence-Based Practices



MODELING PRACTICE

SUPPORTS

Explicit Instruction



Mathematical Language

Instead of that... Say this...



Multiple Representations



Addition Subtraction

Fluency

Multiplication Division



Solve the problem

What skills are necessary to solve this problem?

Word-Problem Solving



Word-Problem Solving



Attack Strategy
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Additive Word Problems

A.
Megan baked 38 sugar cookies and 24 choc-
olate chip cookies. Enter the total number of 
cookies Megan baked in all. 

B. 
In March and April, it rained a total of 11.4 
inches. If it rained 3.9 inches in March, how 
many inches did it rain in April?

C. 
Jana has 162 wooden beads and 95 glass 
beads. How many more wooden beads than 
glass beads does Jana have?

D.
The temperature in Norfolk was 12 degrees 
warmer than in Roanoke where the tempera-
ture was 79 degrees. It was 86 degrees in 
Marion. What was the temperature in Nor-
folk?



Additive Word Problems

E. 
A plant was 3 3/4 inches tall at the beginning 
of June. By the end of July, the plant was 
9 1/8 inches tall. How many inches did the 
plant grow in 2 months?

F.
Martina has some money in her bank ac-
count. Then, she spent $135.69 and has a 
balance of -$24.80. How much money did 
Martina have to begin with?

G. 
Sam mows lawns and made $560 last week. 
She made $95 on Monday, $135 on Tuesday, 
and $70 on Wednesday. How much did Sam 
make on Thursday and Friday?

H. 
Hui saved $70 in January. In February, she 
spent $64 of the money she saved. She saved 
$92 more in March. How much has Hui saved 
by the end of March?
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Multiplicative Word Problems

A.
Ms. Thompson sold 6 cartons of cherries at 
the Farmers’ Market. Each carton holds 25 
cherries. How many cherries did she sell?

B. 
Jane bought 112 light bulbs. The light bulbs 
come in packs of 4. How many packs of light 
blubs did Jane buy?

C. 
Enrique has 2 times as many pencils as Ava. 
Ava has 6 pencils. How many pencils does 
Enrique have?

D.
Susan has 7 times as many books as Mo. Mo 
has 18 books. How many books Susan has?



Multiplicative Word Problems

E.
The number of blueberry muffins that a baker 
makes each day is 40% of the total number 
of muffins she makes. On Monday, the baker 
makes 36 blueberry muffins. What is the total 
number of muffins that the baker makes on 
Monday?

F. 
An airplane’s altitude changed -378 feet over 
7 minutes. What was the mean change of 
altitude in feet per minute?

G. 
Sara buys a sweater at a department store. 
The sweater costs $30. The store is having a 
25% off sale on everything in the store. Enter 
the amount of money, in dollars, Sara saves 
from the sale. Do not consider the sales tax. 

H.
Sam’s two new aquariums each hold exact-
ly 200 gallons of water. One aquarium will 
hold small fish and the other will hold large 
fish. Now he needs new fish for his aquar-
ium. He will buy 5 small fish for every 10 
gallons of water in the aquarium. He will buy 
8 large fish for every 40 gallons of water in 
the aquarium. What is the total number of 
fish Sam will have? What will be the ratio of 
Sam’s small fish to large fish?


